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Yt = F (Nt) = AtNt,

Nt At
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Y f
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Lt Y f
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yt = ln(Yt /Y f
t ) = αyyt−1 − αyr(it−1 − πt − (io − πo)) + αηηt−1

yt−1 io
πo η
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ρ t
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m(Ut, Vt)

m(Ut, Vt) = µU ξ
t V

1−ξ
t , ξ ∈ (0, 1)

µ Ut = Lt − (1− ρ)Nt−1

Vt = Lt − (1− ρ)Nt−1 t

ut = Ut/Lt vt = Vt/Lt

Lt = L̄

et = Nt/L̄

et = (1− ρ)et−1 +m(ut, vt).

Lt /L̄ = Yt /Ȳ f = exp(yt )

et = (1 − ρ)et−1 + µ(1− (1 − ρ)et−1)
ξ (exp(yt )− (1− ρ)et−1)

1−ξ
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p
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(
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eo =
µ

(1− ρ)µ+ ρ
.

L = Y /z
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Lt Nt

πw
t = βpy ln(Lt /Nt · eo) + αππ

w
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πw
t βpy απ

πw
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(

Lt /L̄ · eo
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= ln
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φπ > 1

π

π = ω π + (1− ω )π

ω A

ω

A

µ = 0.8 αy = 0.9 βpy = 0.2 φπ = 2

µ = 0.4 αyr = 1 απ = 0.6

ρ = 0.1 αyη = 0.05

ξ = 0.4

A µ = 0.8 B

µ = 0.4 µ = 0.42

ρ 0.1

ξ ξ = 0.4

αyr = 1

φπ = 2

µ
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